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Analysis and control statement inventory
info 7
tran 1

output statenents
_probe 0

_measure 0

save 1

Design checks inventory
ayn_highz 1

Notice from spectre during initial setup.
Protected devices exist and are not included in the circuit inventory,
2 resistors are shorted because their absolute value is less than o equal to ‘rabsshort’
6 vsources are short because their absolute value is less than or equal to 'vabsshort'
6 resistors are changed to resistance form because their value are less than 'rthresh’
Fast APS Enabled.

Circuit Check: :Setting up dynanic checks. ..

Wiarning from spectre in “top_myself F':’10".
WARNING (SPECTRE-20008)
Node "I0.Vds_off_L' not found in the highz checker 'hzl’. The checker is ignored
WARNING (SPECTRE-20008)
Node "I0.net2’ not found in the highz checker 'hz1’. The checker is ignored
WARNING (SPECTRE-20008)
Node 'I0.netdS’ not found in the highz checker 'hzi'. The checker is ignored.
WARNING (SPECTRE-20008)
Node "I0.net32’ not found in the highz checker 'hzi'. The checker is ignored.
Viarning from spectre in "Vds_detection myself B':'10.159", in "top_nyself_F': I0"
WARNING (SPECTRE-20008)
Node *10.159.Vds_off_L* not found in the highz checker 'hzl’. The checker is ignored.
Further occurrences of this warning will be suppressed.

Circuit Check: :Set up dynamic checks done

Notice from spectre
Multithreading Enabled: 8 threads in the system with 85 available processors.

217.512 ns
821,13 ns

Tine for parsing: CPU = 431.213 ns, elapsed
Tine accunulated: CPU = 1.07775 s, elapsed
Peak resident memory used = 106 Mbytes .

Pre-Sinulation Sumary

Notice from spectre
3 warnings suppressed.

Transient Analysis “tran’: time = (0 s -> 40 us)

Notice from spectre during IC analysis, during transient analysis 'tran’.
There are 36 1C nodes defined.

Trying “homotopy = gnin' for initial conditions.
Top 10 Solution Convergence failure counts accumulated from the beginning of “dc gnin stepping’ analysis

1 417 %  10.159.T100.R16.R0.r1:plus_minus_flow
1 417%  10.03.d1:intc
1 417%  I0.net3zs

Top 10 Residue Convergence failure counts accumulated from the beginning of “dc gnin stepping’ analysis
1 417%  10.03.d1:intc

Trying “homotopy = source’ for initial conditions
Top 10 Solution Convergence failure counts accumulated from the beginning of “dc source stepping’ analysis

2 11.76 % Vsip
2 11.76 % 10.155.146.16.5

2 11,76 % 10.155.146.16.A

2 1176 % 10.155.146.16.5

2 11,76 % 10.net312

1 5.88 %  10.155.146.16.10.net2
1 5.88 %  10.155.146.16.net150
1 5.88 %  10.155.146.16.net046
1 5.88 % 10.155.146.16.D
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1 £17%  10.03.d1:intc

Trying “homotopy = source’ for initial conditions
Top 10 Solution Convergence failure counts accumulated from the beginning of “dc source stepping’ analysis

2 11.76 % Vsip
2 11.76 % 10.155.146.16.5

2 11,76 % 10.155.146.16.A

2 1176 % 10.155.146.16.5

2 11,76 % 10.net312

1 5.88 %  10.155.146.16.10.net2
1 5.88 %  10.155.146.16.net150
1 5.88 %  10.155.146.16.net046
1 5.88%  10.155.146.16.D

1 5.88%  10.net3n2

Top 10 Residue Convergence failure counts accumulated from the beginning of “dc source stepping’ analysis

3 17.65 %  10.155.146.16.net151
3 17.65%  10.155.146.16.net0d6

2 11.76 % 10.155.146.16.14.net34
2 11,76 % 10.net312

1 5.88 %  10.155.146.16.10.netd
1 5.88%  10.net3s!

1 5.88%  10.pnos3

Trying “homotopy = dptran’ for initial conditions..
Top 10 Solution Convergence failure counts accumulated from the beginning of “dc dptran’ analysis
Top 10 Residue Convergence failure counts accumulated from the beginning of “dc dptran’ analysis

Trying “homotopy = ptran’ for initial conditions.
Top 10 Solution Convergence failure counts accunulated from the beginning of “dc ptran’ analysis

2 3.57%  10.11.R0.R1.r1:plus_minus_flow
2 3.57%  10.03.02%intc
1 1.79%  10.159.capmns G
1 1.79%  10.net3d0

Top 10 Residue Convergence failure counts accumulated from the beginning of “dc ptran’ analysis
1 1.79%  10.03.d1:int_c

Error found by spectre during IC analysis, during transient analysis tran'.
ERROR (SPECTRE-16385): Tnere were 6 attempts to find the DC solution. In some of those attempts, a signal exceeded the blowsp Linit of its quantity. The last signal that failed is I(VS:p) = -1.80144 GA, for which the quantity is 'I' and the blowsp Linit is (1 GA). It is possible that the circuit has no DC solution. If you really want signals this large, set the ‘blowp’ parame
ERROR (SPECTRE-16080): Cannot print DC solution because DC did not converge. Resolve the convergence issue and rerun the sinulation

The values for every node on the last Newton iteration are given below. For those nodes that did not converge, the manner in which the convergence criteria were not satisfied is also given
Failed test: | Value | > RelTol*Ref + AbsTol

Top 10 Residue too large Convergence failure:
V(I0.net3) = 11.7748 v

Fesidue too large: | 19.8724 mA | > 99.3622 uA + 1 pA
V(I0.net10) = 2.0136 V

residue too large: | -17.5725 mA | > 87.8624 UA + 1 pA
V(10.netd9) = -3.92291 V
Fesidue too large: | -14.1008 mA | > 70.504 uA + 1 pA

V(10.net4) = 8.06105 V

Fesidue too large: | 12.0947 mA | > 60.4733 uA + 1 pA
V(10.155.196.net2) = 3.50417 V

Fesidue too large: | 10.923 mA | > 54.6148 uA + 1 pA
V(10.netds) = -4.22325 V

residue too large: | -10.4837 mA | > 52.4185 uA + 1 pA
V(10.pos 3) = 14.6404 V

Fesidue too large: | 8.60706 mA | > 43.0353 uA + 1 pA
V(10.net35) = 3.20659 V

Fesidue too large: | -8.49798 mA | > 42.4899 UA + 1 pA
V(10.155.146.112.net149) = 2.1218 V
Fesidue too large: | -8.31699 mA | > 41.585 uA + 1 pA

V(10.net34) = 5.7259 V
Fesidue too large: | 8.22816 mA | > 41.1408 uA + 1 pA

DC simulation time: CPU = 11.3814 5, elapsed = 1.80292 s
Analysis “tran’ wes terminated prematurely due to an error
FinalTine0P: writing operating point information to rawfile

Opening the PSF file ../psf/finallime0P.info ...
Trying “homotopy = gnin®
Top 10 Solution Convergence failure counts accumulated from the beginning of “dc gnin stepping’ analysis
1 7.6 10.159.1102.R16.R0. r1:plus_minus_flow
1 7.69%  10.D3.d1:intc
1 7.6 0. 1own




image3.png
Top 10 Solution Convergence failure counts accumulated from the beginning of "dc gmin stepping' analysis

1 7.69 % 10.159.T102.R16.R0.r1:plus_minus_flow
1 7.69%  10.D3.d1:intc
1 7.69%  10.lown
Top 10 Residue Convergence failure counts accumulated from the beginning of “dc gnin stepping’ analysis
15.38 % 10.03.d1:int_c

7.69 %  10.159.T100.R9.R0.r1:plus_minus_flow

Trying “homotopy = source’
Top 10 Solution Convergence failure counts accumulated from the beginning of “dc source stepping’ analysis

4 21.05%  I0.middlen
2 1053 % 10.highn
2 1053 % 10.neti2
1 5.26%  10.159.cap_nps_G
1 5.26% 1030
1 5.26%  10.net3s
1 5.26%  I0.net3ls
1 5.26%  10.net30s
1 5.26%  Io.nets
1 5.26%  I0.netit
Top 10 Residue Convergence failure counts accumulated from the beginning of “dc source stepping’ analysis
4 21.05%  I0.middlen
2 1053 % 10.neti2
2 1053%  I0.nettl
1 5.26%  10.159.cap_mn5_G
1 5.26%  10.159.cap_mps G
1 5.26%  10.net3s3
1 5.26%  10.3n
1 5.26%  10.net3ss
1 5.26%  I0.highn
1 5.26%  I0.net3s

Trying “homotopy = dptran’
Top 10 Solution Convergence failure counts accumulated from the beginning of “dc dptran’ analysis
Top 10 Residue Convergence failure counts accumulated from the beginning of “dc dptran’ analysis

Trying “homotopy = ptran’.
Top 10 Solution Convergence failure counts accumulated from the beginning of “dc ptran’ analysis

1 6.25%  10.11.R0.R1.r1:plus_minus_flow
Top 10 Residue Convergence failure counts accumulated from the beginning of “dc ptran’ analysis
1 6.25%  10.D3.d1:intc

Error found by spectre during DC analysis, during info *FinalTineop®
ERROR (SPECTRE-16385): There were 6 attempts to find the DC solution. In some of those attempts, a signal exceeded the blowp linit of its quantity. The last signal that failed is 1(V2:p) = 1.80144 GA, for which the quantity is 'I' and the blowup limit is (1 GA). It is possible that the circuit has no DC solution. If you really want signals this large, set the blowsp’ paramet
ERROR (SPECTRE-16080): Cannot print DC solution because DC did not converge. Resolve the convergence issue and rerun the sinulation

The values for every node on the last Newton iteration are given below. For those nodes that did not converge, the manner in which the convergence criteria were not satisfied is also given
Failed test: | Value | > RelTol*Ref + AbsTol

Top 10 Residue too large Convergence failure:
V(UG = 6.71878 V

Fesidue too large: | -3.69843 A | > 18.4921 mA + 1 pA
V(10.1ow p) = -3.57292 V
residue too large: | -350.855 mA | > 1.75427 mA + 1 pA

V(I0.net21) = 8.77207 V

Fesidue too large: | 314.184 mA | > 1.57092 mA + 1 pA
V(10.D3.41:int ¢) = 9.7516 V

Fesidue too large: | 293.554 mA | > 1.46777 mA + 1 pA
V(10.03.2) = 10.8773 V

residue too large: | -293.554 mA | > 1.46777 mA + 1 pA
V(10.D3.42:int c) = 12.4838 V

residue too large: | 176.361 mA | > B81.807 uA + 1 pA
V(10.03.b) = 13.1601 V

residue too large: | -176.361 mA | > 881.807 uA + 1 pA
V(10.D3.45 it ¢) = 12.6739 V

residue too large: | 169.262 mA | > B46.311 uA + 1 pA
V(10.3n) = 13.0775 V.

residue too large: | 159.581 mA | > 797.905 uA + 1 pA
V(10.net335) = -2.24748 V

Fesidue too large: | -134.367 mA | > 671.833 A + 1 pA

DC simulation time: CPU = 11.6736 5, elapsed = 2.07494 s
Analysis finalTineOP’ was terminated prematurely due to an error.
modelParaneter : writing model parameter values to rawfile.

Opening the PSF file ../psf/modelParameter.info ...
elenent: writing instance parancter values to rawfile

Opening the PSF file ../psf/element.info
outputParameter: writing output parameter values to rawfile




